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from scipy import stats

from sklearn. cluster import KMeans
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C=5
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x=1

y=2

x0=x-1

y0=y-1
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x_range=[-2,2] #IBH 1 DEFH
y_range=[-2,2] #IEH 2 DiFHE

#[C]ZEfT
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sklearn. cluster. KMeans (n_clusters=C)

pred = KMeans (n_clusters=C). fit_predict (X)
N, nn=X. shape

TE=np. zeros ((N, 1))




for n in range (N):
TE[n]=pred[n]+1
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pred = KMeans (n_clusters=C). fit_predict (PC)

N, nn=PC. shape

TM=np. zeros (N, 1))

for n in range (N):
TM[n]=pred[n]+1

plt. figure(1, figsize=(8,3.7))

plt. subplot (1,2, 1)

show_datal (X, TE)

plt. xlim(x_range)

plt.ylim(y_range)

plt. xlabel ("X"+str (x))

plt. ylabel ("X"+str (y))

plt.title(Coriginal data ")

plt. subplot (1,2, 2)

show_datal (X, TM)

plt. xlim(x_range)

plt. ylim(y_range)

plt. xlabel ("X"+str (x))

plt. ylabel ("X"+str (y))

plt.title(CPrinciple component’)

plt. show()
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